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Question Number : 1 Question Id : 27028219084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:

eS Do FE56° (BT i
Options :

To prepare students to pass examination
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et

To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
. BEEoH é@{f}%é@é DD [Bfeverosto

Question Number : 2 Question Id : 27028219085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.

- Doegie (Hep ﬂ”ﬁ]ﬁ&f‘)i& 2osrobodto

Improve the physical standard of the students.
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Help all round development of the students.
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Inculcate value system in the students.
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Question Number : 3 Question Id : 27028219086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Generally the most effective approach dealing with the child's aggressive behaviouris
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Options :

to channel his/her aggression mto legitimate areas of competition.

| BD[0ED ErHth BHB55H DO S orBoBen Bahdo

to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.
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to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
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Question Number : 4 Question Id : 27028219087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the followmng statement is not correct with regard to lecture method in teaching?
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Options :

Develops reasoning

)8 adP555% Dosrobosto
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LImproves knowledge
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It 1s one way process

26 DEBY (H8cH

In this Method students are passive
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Question Number : 5 Question Id : 27028219088 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

"A diagram speaks more than 1000 words." The statement means that the teacher should

“e.8 Digo Jang Sreeod) EHRIG” @) FHBSSo FHsdo

Options :

use diagrams in teaching.

Bad ot i o afin A Wy
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.

y S518 K680 SPESEigsmred ad@RRoTed

not speak too much in the class.
SB858E° B Eretptioeth

Sub-Section Number : 2
Sub-Section Id : 2702821399
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 27028219089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a main task of research in modern society?

@HAE Diireod® HBEGF Brarodo 56 wb?

Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
3.¢

to systematically examine and critically analyse.

Bz 5888, DI0G)eH)E DEhes DabHeo.
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Question Number : 7 Question Id : 27028219090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
Slron estfadios® S Homofoils someih Medorr Ho890EIE eSiEHs Adired
sdiango T2 H68%G téo:
Options :

Historical research

- TB(BE D85S



Action research

Experimental research

BErREE D08

Case study

F’}Dtﬁt’ia 568ed
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Question Number : 8 Question Id : 27028219091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The experimental study is based on:

(BEPTEE egiichards Surergrdo

Options :

The manipulation of variables
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Conceptual parameters

s wogren
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Replication of research
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Survey of literature
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Question Number : 9 Question Id : 27028219092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
s 5 c :
Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
185D (23&SchEo
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Question Number : 10 Question Id : 27028219093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.

58880 Hbore aegroresh S8 o03Eo

Survey of related literature

Somobd HBTHSe Jie ) ff:n\ Jcho

Identification of problem
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Searching for solutions to the problem
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Question Id : 27028219094 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
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Question Numbers : (11 to 15)



Question Label : Comprehension

Read the passage and answers the question from 11 to 15:

By the mid-nineteenth century, mass production of paper patterns, the emergence of the home
sewing machine. and the convenience of mail order catalogues brought fashionable clothing into
the American home. By the early twentieth cenfury. home economists working in extension and
outreach programs taught women how to use paper patterns to improve the fit and efficiency of
new garments as well as how to update existing ones.

Teachers of home economics traditionally made home sewing a critical part of their curriculum.
emphasizing self-sufficiency and resourcefulness for young women. However. with the increasing
availability of mass-produced clothing in catalogues and department stores. more and more women
preferred buying garments to making them. As a result. home economists shifted their attention to
consumer education.

Through field study, analysis and research. they became experts on the purchase and preservation
of ready-to-wear clothing for the family. offering budgeting instruction targeted at adolescent girls.
Moderm home sewing made it possible for American women to transcend their economic differences
and geographic locations with clothing that was increasingly standardized. The democratization of
fashion continued through the twentieth century as the ready-to-wear market expanded and home
sewing became more of a pastime than a necessity.
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Sub questions

Question Number : 11 Question Id : 27028219095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

How did home sewing help American women?

Do Bty edbES Hirdol der SBahndoh?
Options :

They became field analysts and researchers.

) T PG DFehen Hdakn HOEen edit.
1. e '

They went beyond economic boundaries.
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They found good jobs.

% 008 &8 resDh Eiad
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They became excellent teachers.
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Question Number : 12 Question Id : 27028219096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What improved the fit and efficiency of new garments?
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Options :
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Sewing maclunes
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Mass production
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Paper patterns
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Question Number : 13 Question Id : 27028219097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What were the skills that were emphasized for young women?
cndhe 55 T°8) Baynd Jdemgen dnd?

Options :

Selt-confidence and self esteem
@é@ 3]%’25?60 sobBain @éé B0
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Self-sufficiency and resourcefulness
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Resourcefulness and self-confidence
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Prudence and resourcetulness.
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Question Number : 14 Question Id : 27028219098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Who became experts on the purchase and preservation of ready-to-wear clothing
for the fanuly?
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Options :

Owners of department stores

1 % Garlotn thevere dhassirioen

Field-study analysts
5[ ( . ($8) e9¢50DS DFHen

Young women
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Teachers of home economics
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Question Number : 15 Question Id : 27028219099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Who was the target group?

e BEnSeo a%%?
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Options :

Young women

G0y sndeEen

School children
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Adolescent girls
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Working women
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Sub-Section Number : 4
Sub-Section Id : 2702821401
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028219100 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

The following are the barriers to effective communication except one. Find it out.

& (Bob =B8° w58 S RsbEosghi Hirery &rb)i8 t:00 efothen. o) ShfFHod.
1. Bypassing
&SR0
Proper encoding
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3. Frame of reference
@5 858
4 Physical distraction

g8 Sdgego

L

Psychological interference

HmiiR 550

6. Emotional interference
e Ol £7550

7 Cultural differences

F0:) )88 Poren

The right code is:

505 &%

Options :



Question Number : 17 Question Id : 27028219101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

A teacher should have good communication skills. He / she will be a good communicator if
he/she

28 Kt ot Sogrip SDee BOA 605, 98D [ w3 2.8 508 QrFHEmT sokérdd:
Options :

Asks questions about his / her classroom

wédD [ @D SEKS K 1960 BHEen ethiberth.

Helps students to score good marks / grades

rghen o éPéJ(J;JJ,-’E%EJ 256 BHErd8 BcHHtHeEH
A

Helps students to ask relevant questions
$000BS (HHOD ©ENErdE Dughed [EPayarrt

Uses and provides mnstructional material
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Question Number : 18 Question Id : 27028219102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Bots mi EH6S° Toth D samon. (80 (A) Hbdh suo (R) ef) bedatisa.
Assertion (A): Women are depicted in a negative way m the media.

(HE6S (A) : DBairs® Hirfod Haremis Sltgéﬁﬁ D@gGoT.

Reason (R): Media has furned completely unethical in modern times.

80 (R): shboie athdE seod® Jrom egdore Srosfonod.
Options :

Both A and R are true. R is the correct explanation of A

A $0cin R Botir deso, R &dB A @) 5B Dt

Both A and R are true. R is not the correct explanation of A

A 5bc%n R Bor 923059, R &dd A Gng) 585 D588 soth

A 1s false. R 1s true

A &33p, RQes0

Aistrue. Ris false
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Question Number : 19 Question Id : 27028219103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
What is ‘Synchronous Media?”
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Options :

Printed media

1 % (2085 &aie

Media providing information about the issues and events
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soigen sHBain Nozpéden Mot Sirarted)) @ofodd
2. %

Live telecast

Media in digital enviromment
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Question Number : 20 Question Id : 27028219104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Mr. Ajay completed MA Economics. He 1s going to attend an interview, He dressed for the

occasion. This 1s an example of communication,
0 D olo.o) BET0 v, odH 8 soblrgh el ST oD
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Verbal
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Non-verbal
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Emotional
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Psychological
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Sub-Section Number : 5
Sub-Section Id : 2702821402
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 27028219105 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,
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Options :
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Question Number : 22 Question Id : 27028219106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they

run in opposite directions. When they run in same direction. a person in the faster

train observes that he crossed the other tramn i 32 seconds. The lengths of the two

trams are (in meters)
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Options :
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Question Number : 23 Question Id : 27028219107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there m the factory?
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Question Number : 24 Question Id : 27028219108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence : 6. 14, 36. 98. 15

g oS’
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S DOWIN Doy 6, 14, 36, 98,
Options:
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Question Number : 25 Question Id : 27028219109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

BUTTER is coded as 123345 then the code for TUBE 1s
‘BUTTER® ‘123345 1 56 ToHG08. e@H 1 'TUBE' o0 86
Options:

% 1234
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Sub-Section Number : 6
Sub-Section Id : 2702821403
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 26 Question Id : 27028219110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following
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Options:
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Question Number : 27 Question Id : 27028219111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
As ‘BDEG’ 1s related to ‘DFGI’ so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & $02)0¢%:30 03¢, @3 DA™ ‘HEMO’ & $02508580
Options :

INOQ

1. %

, « TMOP

3.v IMOQ

INLP
4. =

Question Number : 28 Question Id : 27028219112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which among the following statements is correct based on the following Venn

diagram

808 IS VS0 SO0 [2edeinrede AR

Options :

| x Some X'sarenot W. (503 X e Wen 5D )

, % some Y'sarenot W. () Yen Wensdn)

» X'sareY's. (XenYen).

4V Wisarenot Z. (WenZew 5¢w)

Question Number : 29 Question Id : 27028219113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The odd one among the following is

80O TS AR, 2.8 VOO NOoWE

Options :



Rose ( (D ey3) )

5 % Lotus ( @o08)

3 Orange (0°002 )

4w Lilly (5e0)

Question Number : 30 Question Id : 27028219114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

g

. There are three married couples m a famuly of three generations. A 1s grandson of H;

G 1s the mother m law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?
P ST 50EN00ET, WP DFEre 20N G aN. A, H B0E), e G
@6 € G3nE) 9; D o000 E &FSen. B, E Ghod) 3oee0; F, D BoE), H6& B
Sotocen (sister in law), B, C G30%), 505, B G & der Hoaoo?

Options :

1 = Daughter (Boeedd D)

- Wife (23°8§)

5  Grandson (e0IED)



. cimeh
4 % Daughter in law (5Caew)

Sub-Section Number : 7
Sub-Section Id : 2702821404
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 27028219115 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.

2.4 9% 2020 57885 © 5008, 2.8 26D FB% ey A, B, C, D B0 E @ 2058
2rge3of estord Gng) HBHe (HABND, 808 Bod SETd dtuwod Fod

BIDEI0. Jokd D b b éJDFSSmeSﬁ oty 308 Ao Bibe ek Hrod. HEAM
BOdS 26260 (296 36T @) S35 O 0D TN O Db ArdN08. ()6

et @) SF5S O SR, HO0H 87 7S OF DAHAD eerr HEiHe Fnddw,
& 26D T F0ea HHHOS 90% 9T,

Sub questions

Question Number : 31 Question Id : 27028219116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo

Options :

Question Number : 32 Question Id : 27028219117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10



L%
L]
LIS
LIPS

Question Number : 33 Question Id : 27028219118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?

Options :

1. % 10

Question Number : 34 Question Id : 27028219119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E

Question Number : 35 Question Id : 27028219120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
Options :

1% 2177



2_ W

3 % 55.00

4. 6l.11

Sub-Section Number : 8
Sub-Section Id : 2702821405
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 36 Question Id : 27028219121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks :

2 Wrong Marks : 0

Which device i1s required for the Internet connection?

!

]

&y

& s Al e =yt oy o i
2066583 e0:onrR8 o) HBEBo eddo

Options :

Joystick

Modem

2. OGeD

D Drive

P!

n

30
£
[=]
L&



NIC Card

n

3.6, 8. =50
L

-

A

4. %

Question Number : 37 Question Id : 27028219122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Junk e-mail is also called

E o i i e iy £ B oo TN et
2305 B—aHONS £ dHorr Brd Denaed.

Options :

spam

D
LaF ot B
@

spoof

S0V

o

snifter script

b B3

3. %
spool
S
4. %

Question Number : 38 Question Id : 27028219123 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP

Question Number : 39 Question Id : 27028219124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.

Options :

mdex.doc
aoiﬁ%. wE

1. #



mndex html
ao(ﬁgrj. AT TN Y ]

index ppt

3 % 50855y 20

imndex dot

5086y &otd

Question Number : 40 Question Id : 27028219125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB

E- education

4 E”-.—Sjtﬂé

Sub-Section Number : 9
Sub-Section Id : 2702821406
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 27028219126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
1.9 =

Magnesium and boron

~ s Bl - - .-RE 1=
?‘J;&_&Oﬂ:u, 270w



Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead

4% Srércdho, Hdo

Question Number : 42 Question Id : 27028219127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L

Question Number : 43 Question Id : 27028219128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.

=%

Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040

Question Number : 44 Question Id : 27028219129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The EL Nino disappears in March and re-appears in

306 Y eS8 wodrdnHEod. HBAM JHH HIBEEHHHOB.



August

= ﬁ c:;l

October

.

AP
.o_;:::ﬂ EA.,"TJ

December

o =
G080

Question Number : 45 Question Id : 27028219130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0



Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a

5 % l-c, 2-b. 3-a. 4-d

3 % 1-d. 2-b. 3-c. 4-e

4 1-d. 2-e. 3-a. 4-b

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

List-II

10

(25E-2)

&
Water Pollution
80 SPeNso
Bhopal tragedy
Goard Dapdo
Noise Pollution
WRARSEOVES e
Ozone Depletion
5,8°% Sihse
Global Warming

&orEr0

2702821407

Yes

null



Question Number : 46 Question Id : 27028219131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based

- S)B,8HHES

Values based

> Dende r8HOSH

Skalls based

w . 5 o i
% D)EFTNO (aPSDHOES

All the above
= B

olodod
i,

4. =

Question Number : 47 Question Id : 27028219132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?

UDQ': g.;; i \:’::.L n.xcl |c>.1? g &-:u P\."Eﬁb i"a\‘:é 1,"—‘_" »‘_Lc\ oo \.J&



Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo

Question Number : 48 Question Id : 27028219133 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration

R o, P,
eeiSéd (Deribared Do
L

A

Administrative Staff College of India

gt HBareN 38m Serere



L.B.S. National Academy of Administration

e 4 = i By af TN -
ePHTLErOTR erach Hbares esetidh
3.¢

Centre for Advanced Studies

4 % ol eidhore Solio

Question Number : 49 Question Id : 27028219134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council

. J58S IS w0k ABEBAS TS
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following fype of universities cannot award deg:rees

(Bod =8 e“tﬁa 8 DefgEd Hoobotld ay‘:Pu adeRE el ) drrgediren

Options:

State University

o

e
ot .:'i,%' &mtﬂri goo

—
¥
40

H

Private University

p

e S v LT -eh

AFN Ay a,lﬁn:mcrv_:.;@cﬁlah
¥ i

Deemed to be University

&5& DEDoegecho

None of the above

__'a aJa) qET
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Group Maximum Duration : 120
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Cant View
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HINDI

270282252
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Online
Mandatory
96
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Question Number : 51 Question Id : 27028219136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0
e g s aT I ag 2

Options:

| w SH O T T AT A A

|y TR ATH A AT F

Question Number : 52 Question Id : 27028219137 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

THH H HIF AT T AGE 27
Options :

. T T AT TSI AT 2

1

- g T TV GA 7 2

4T F T el GTET
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Question Number : 53 Question Id : 27028219138 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

forT 317 & g § H3 f297 ® 297 F7 SR 21a7 2. AT grar g Arv

AT % AT FRIE T AT AT AT (A § AT

Options :

1.+

TERTE-SaT

5w TTE A

HEE T

Question Number : 54 Question Id : 27028219139 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0



AR T FIH G -
Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.

Options :

Question Number : 55 Question Id : 27028219140 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
ATUT &9 91 &% A&H § 7qL, qTAT AT TATATT HI 4T FgT ATAT 22

Options :

| % EATATARIL

€T UTH



Question Number : 56 Question Id : 27028219141 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

AT T AT B A 7 At A e 3 o 8

Options:

| % AT AT

. = =T ATTH

3 o TET S ANTH

e AT AT

Question Number : 57 Question Id : 27028219142 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0
TR T AT % ATEL AT AT FTAT ATHF T AT q7a7 2-

Options :

1.4 K

Question Number : 58 Question Id : 27028219143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0
o Feor & T S wT R % w T H S grar 22

Options:
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1 ¢ Sleid H ATHAT

, w FTGEAAT
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Correct Marks : 2 Wrong Marks : 0
FTETIT AT &7 oI TO1 7 SATee o 3 -

Options :

| T R

, g AT fert
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Correct Marks : 2 Wrong Marks : 0
TR T FiA A THAT AT TR FEE A 2

Options :
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ST Ao o o & o7 779 & Tt of TRt 7 &7 A7 7797 § WA Tt
AT AT H AT I T AT GAN A GG F (5 Aq=% A 67

Options :
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Question Number : 62 Question Id : 27028219147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Options :

203

Question Number : 63 Question Id : 27028219148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
THIT AT G HT THT AT

Options:

1.
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Question Number : 64 Question Id : 27028219149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
11 7t fFrea = e o 2or 5 srnfSr g am

Options :

Question Number : 65 Question Id : 27028219150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

+ =, : =
T | H ATH IH ATATHF T 2

Options :
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Question Number : 66 Question Id : 27028219151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
T H T FIF g7 Aa9Ted HEid A 2
Options :
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Question Number : 67 Question Id : 27028219152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
A & T AT AT AT AT N Ta A S o o T ST Fi

Options :

| % 9T

T

AR T
4. %

Question Number : 68 Question Id : 27028219153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Options :

g% LT

5 x TR o

Question Number : 69 Question Id : 27028219154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Options :



Question Number : 70 Question Id : 27028219155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

T | HEF o THAT HI4 A1 2?2

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

Question Number : 71 Question Id : 27028219156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

AT TS & AT AFET T s 9T &-

Options :

| % ATCECT A4

2. % i

o

qreq |91

HEIZRIE]

Question Number : 72 Question Id : 27028219157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

e ATEe #it =T e A 2

Options :



Question Number : 73 Question Id : 27028219158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

el AT % IT7 HEATIA &l 'TATd FTA’ Hf AAT (004 217

Options :

@ QE[ '| TAT< iaa:-.l

1.

—
5 % IHE R 5!.1‘51":'1

IR e
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L gy e O

Question Number : 74 Question Id : 27028219159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
“TTET 5% & FAT A0 2 2

Options:

Question Number : 75 Question Id : 27028219160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

TTEHT AT % TTOT A HgaTe a1l Fid 57

Options :
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Question Number : 76 Question Id : 27028219161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
;I 1;' Fiﬁ - ﬁ' 9 i-ﬂﬁ qi%_'i:” Flliﬁﬁa %—

Options:

IER

1.+

[ ] —
AT AT AT
2. ® '

- IEACIE

3, #®

Question Number : 77 Question Id : 27028219162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

O

AT & (e e &l ATATT 77 J1d Fgl S1ar 27

Options:
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Question Number : 78 Question Id : 27028219163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

=T TTHAE FT F AGATT Toeal T 15T AgTHT=T 5—
Options :
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Question Number : 79 Question Id : 27028219164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

T H T FF AT [EAF ST, ZRT AR T =T 82
Options :

v ¢

1.

Question Number : 80 Question Id : 27028219165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
TR ol AT o & v=AT 20

Options :

T 7T

1. %
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Question Number : 81 Question Id : 27028219166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.
Options :
| AT et

Z_H'ﬁa—rmn‘?rﬁﬁ
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Question Number : 82 Question Id : 27028219167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
FTa=TIRaTs (e aTe=® ST 7 Featead 22

Options :

Question Number : 83 Question Id : 27028219168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Options:



Question Number : 84 Question Id : 27028219169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

grEet T AT T F e AT e s

Options :

% W



Question Number : 85 Question Id : 27028219170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

+ | - = =
9 Fild ratald @ 6 Hld T

-

Options :

| w FET

Question Number : 86 Question Id : 27028219171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

TAH F BT THAT ATAAT 61 A1 87

Options :



Question Number : 87 Question Id : 27028219172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
e w° FaiT =7 7 gfaTte w9 9T o -

Options:

|, T

2. %
3 % IR
4.% =

Question Number : 88 Question Id : 27028219173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0
EED i'ﬁ-:ﬁg SEX QH.TET'% T%r CICCE REECIRE I T%H o AT

Options :
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4.

Question Number : 89 Question Id : 27028219174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Options:
1. % IS HHTH

5 & CHET SUTEATH

3. %



THIT HEAT
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Question Number : 90 Question Id : 27028219175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
AT AT AT THAT F THEAT & AGF -

Options :

| TTHEEY L
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Question Number : 91 Question Id : 27028219176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

= o] -+ 5o =
T T AT AT %‘Tﬁq’ﬁ"‘“ “'*«Jﬁ_%'-}




Options :

- IEEREEE
ZJH&WW

3, % TR AT<A

Question Number : 92 Question Id : 27028219177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

e Ted . &= d 14 % II‘3"-"|’||'-':"\|"|| %: =

Options :
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Question Number : 93 Question Id : 27028219178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

T F I T T FT ST 80

Options :

Question Number : 94 Question Id : 27028219179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
TITTTA & T STATH | 7 &1 V€ £ T A7 390 FAT ‘Zq FT FaeT -

Options:
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Question Number : 95 Question Id : 27028219180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
TH T FIT AT THAT SATET TR (5o & 7357 8-

Options :

1 % ATTZ T SACHFAT

_— Lk - ke

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 96 Question Id : 27028219181 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
TAH | FHIT A THAT AHAFHAT 27

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.
Options :

- [
, AT JHTET

. T A AT ATEHT

Question Number : 97 Question Id : 27028219182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

h T e 3 T A A e



Options :

4 v TEE

Question Number : 98 Question Id : 27028219183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
T3 T o ST ATHET % ATH 77 TavgaTyer JT9E Tea il 7947 31 27

Options :

1. % Al



Question Number : 99 Question Id : 27028219184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
FETATAT 3l SATETE FTAT FHIT AT 22

Options :

’I.Jw

Question Number : 100 Question Id : 27028219185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
T T AT FTHATIA 54 WAl & 9198 77 75 % qaeram= &1

FA: T A7 TAT % qrer 7 forer 3 7 w5y o ww o am

Options:
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Question Number : 101 Question Id : 27028219186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
TR T 9T 8 2

Options :

Question Number : 102 Question Id : 27028219187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Options:

T T
1. o EEEES

2. x MOH IR

Question Number : 103 Question Id : 27028219188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
e fetaT T gl o 39 Taahl & a1 GHrd B

(a) Fre=teRsaT OEIEIESE]
(b) FeaT (i) 2T T TTerEe
(c) FT=A H IaTd a4 (i) ==+
(d) T T T (iv) I

(v) A
2 F T2l AT 2

Options:
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4 % @V  b-iv cdi d

Question Number : 104 Question Id : 27028219189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

—

i< FTe § T+l | T=i=a 997 61 3% T Iaqra F gHIAd i |

(a) HTTST AT (i) HTAT AsgoaT
(b) ®aTH (11) %‘xﬁ_lﬂ:r—ﬂu—l EIGE:
(c) AEHTHEHATT (11T FTS =T AT
(d) Fieaga gHhrEd (iv) AT T2

(v) FegeHH=
Options:

- a-V b-iv c-i  d-i
’|_%-$

a-iii  b-iv c-i  d-ii
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a- i b-iii c-i d-v
4. %

Question Number : 105 Question Id : 27028219190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

T =Tl T 3% TAATHI] & THTAT T -

(a) TAFAT HAT (i) §r T

(b) T =TT (ii) Fv=ET

(c) & HLT (iii) ATAH

(d) THATA FTHT AT (iv) 7 3T
(v) IEHTH
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Options :
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5 % a- i b-ii c-iv d-v
3 % @ iv b-v cHii  d-i
b-iv c-iii  d-ii
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Question Number : 106 Question Id : 27028219191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
et afeca & A< w1 1 (e fobom At & arfafga e & Fefefaa st
I FIAEATIhl % AT HHTT FIT—

(a) =TT T (i) o &g
OEEEREEIE] ORI EICAFCEL
(¢) g a7 w1 (iii) TETH T TATE FEa=T
(d) TTETHF T (iv) Rree
(v) TTE ATFATIA

ERR R EARE E T A
Options:
L dV o bdcdi il
5 % & i b-ii  c-iv  d-v
3 % 8V b-iii ¢~ d-i

a-iv b-iii c-v  d-i
4.

Question Number : 107 Question Id : 27028219192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

(a) 7 orgia (i) Fah

(b) FA=HI FHgia (i) FTHA

(c) Tif frgia (iii) ATEaeT

(d) =i+ Tagia (iv) 970 qi+
(v) 9THE

TH F Al AT 2

Options :
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a-iv  b-v c-ii d-iil

a-ii b-iv ¢l d-iil

a- i b-i c-iv d-v

Question Number : 108 Question Id : 27028219193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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FTaTeA T T TH FTAT B 3% THATRILL 6 A1 FGHIAT Hil =0
(a) FEATITZATT (i) HETITH
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Options:
- a-iv  b-v c-ii  d-iii
5 % a- i b-iii  c-iv d-v

a-v  b-i  c-iv  dHiil

a- i b-v c-iv  d-ii

Question Number : 109 Question Id : 27028219194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



FATHT T2t AT A®Tel ol Ieh 2971 o qHTea Hitor—

(a) FIH =l (1) FILTSTA
(b) ATHH= AT (ii) FEATH
(c) STIT=7 THg Faa (ii1) AT
(d) T AT (1v) T2
(v) Tostt

TH | ARl AEeT B
Options :
1 % a- | b-ii  c-iv d-v

o 8- v b-v cHii  d-

. a-ii b-i cHii d-v

a-iii  b-i  c-v dHi

Question Number : 110 Question Id : 27028219195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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(a) FHATITH
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Question Number : 145 Question Id : 27028219230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 2702821409
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 27028219231 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (146 to 150)

Question Label : Comprehension



& THRT: AT Tad Faa0 &1 A EF TEa7 (97 7 (o - 100) WA &
at e St Fiterd |

T S ST 1 T ST & qR e A At a1 s G rzar §) 3w

TR TRATT FTATI F AGT F T H% A1 T g F =g § w107 f&5a7 #
FUATAT &1 AT : IA0T AIG0AF HIeAq] A4F £ T AH 1 AT 5 a7 78 T 2
TR T TS A AT 7 AFTST T A7 A9 (ST H AT AZA & T 7 &
HEY, I AT, 395 49799, 1§

RGO He e, AT QA1 F121 § 8% ST & g § q497 T4 (49717 F62 {57 31
IR TH 6] 1 I ATHT Fgh? AEHI I JHH A1) FET F I (647 ¢ IT6 ATATT
"EEA T A o 7F &1 T AR H 2T i Al F A gl ¢ a1 34 78 AT 97 Fgd
&1 gl TG H7 HTAT Z2HT I 1Y F AT THCHF e 7194 17 2| T i e 19
38 T 9 ST 7TET S T &, T TATGEY IAH HETET A TR F IAF TET H
T ot F7d ) Il 22 & TATET giel T 6l 419 AT 7T 2| AT 57 9o
6t ST 4 ST T B AT AT A (10 ST (6T €| il 3eh A Ta-
AEraTe A1 oft i A T € A 9 S T T R A e W A
AT AT & FT ToTHE JAD ATATIOTD T4 il ETIT 1 &

Sub questions

Question Number : 146 Question Id : 27028219232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
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Question Number : 147 Question Id : 27028219233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
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Question Number : 148 Question Id : 27028219234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Question Number : 149 Question Id : 27028219235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 27028219236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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